STUDY

TNPSC GROUP I PRELIMINARY EXAM 03.01.2021
APTITUDE AND MENTAL ABILITY
STEP WISE SOLUTION
(TENTATIVE ANSWER KEYS)

Find the value of k if
13+ 23 + + k3 = 44100
a. 20 b. 21 c.22 d. 23 e. Answer not known
&1 G HTEwIH.

+ k3 = 44100
a. 20 b. 21 c.22 d. 23 e. el Ozfuweaisoenev
(Source : 10th New Book Ex 2.9 31 Sum Pg No: 82)

Solution

13+ 23+ + k3 = 44100
k(k +1)j2
2

(sz =44100
2

Take square root on both side =
k (k+1) =420

k (k+1) =20 x 21

k=20

Formula = (

k(k+D _,10

If A =2%and B = 2% + 263 + 262 + 20 Which of the following is true?
a. Bis larger than A by 1 b. A is larger than B by 1

c. A and B are equal d. B is 2%* more than A

e. Answer not known
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APPEZ LD

A = 20 pppb B = 264 + 263 + 202 4+ D0 Gigmes  Qam(hebHLILIL (HeiTendl 61660
Ledreu(meueraumsled e1gl 2 ewiento?

a.B ooz A m el 1 ofHsid b. A gz B o ol 1 oifsid

c. A wppid B &b d.B syenim A 2 el 2% gifasibd

e. alowL  OFMwalsdensy

(Source : 10th New Ex 2.10 Sum No 12 Page No 83)

Solution

LS
Qs %,

Ly - b2 i
B:'fh—\’)_ 42 kR

Fovrolda -

-8 = | D-m,..) = {1% = \)

. 9= .
L, A\ ’r:nafn -'\\*\r:\\”\_ Bbﬂ\_\
th\t‘i_t_:\_.

Smrer—

-[Y B = -

n=\ -
12 22 +&h3’”.r‘bu

A g cdmaﬁ'ﬁ. a vea oy
Tran 2 E\b \

163. Find the missing number:
3,12,27,48,75,108,
a. 147 b. 162 c. 183 d. 192 e. Answer not known
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(B L 6TCITEN6MIE  HIT6uT5Hb:

3,12,27,48, 75, 108,

a. 147 b. 162 c. 183 d. 192 e. alenL Gz fuwiealsvensv
(Source : RS Agarwal (Model I)

Solution

|

CPRET L&, TS, Tom

SRy = in
SRy e g TR
2 th.= Rl

S X s e
Sx 3b = alok -

In the given number pattern find the next term.
21 321 4321

33'444' 5555’
7531 b 1234 4321 d 54321

a. — L= C. —— .

6666 5555 2222 66666
B OIMILILI60 OIHSHS 6TwTN6MIH HT6WIHb.
21 321 4321

33’444 5555

7531 1234 4321 54321
a. —— b. — c. —= d.

6666 5555 2222 66666
(Source : 6t New Term 3 Page No 82 Ex 5.1 Sum No 2 (iv)

e. Answer not known

e. alowL  OFMwalsdensy
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APPEZ LD

Solution

£ 1 , =2\ : NG L L
=2 (ERE AN SSSS

|

N urnaexak=YS

— > e, ¢

e, e o =

Ly )
= S 32\

2 Ay
gc\\%\‘cs
k\d‘\?‘;\‘cb
= d“{?‘g\
O enormirafors .
5> 23 '
e e B
- SEES

SO( Base l\)GLK\— one , Bbbbb

r

If 'HUMBLE" is given by the code EHLUBM. What does the code
EDUCATION mean?

a. NEDOIUTCA b. NEOIDUTCA

c. NEDUOITCA d. NEODIUTCA

e. Answer not known

HUMBLE eemens EHLUBM eaaniip @muit Lmsd sytiugesr EDUCATION
aeild @MIuIp eTdHmend GHldELD?

a. NEDOIUTCA b. NEOIDUTCA

c. NEDUOITCA d. NEODIUTCA

e. allew  OFfuwealedensv

(Source : RS Agarwal (Model I)
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CHENNAI

Solution

What is the probability of getting and even number when a die is thrown?

a. 1 b. % C. E d. g e. Answer not known

6 2
QM UBSMLMW 2 (HLBLOUTIS @F SJLeDL LML 616wl &HlenL LILIHMBEHT60

BlSHH6 WITg?

al b. 2 v d. 2e. alewL Oxfwelevensv
6 3 2 6

(Source : 9t New Ex 9.1 Sum No 3 Page No 298)

Solution

Ve 2, 3 L, €.

I
Evern Numben - 2,4.6.
Probal Pty PLB) = NCAD
nC¢)

—
-

e
L
D(H} P \

— e

y
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CHENNAI

The present ages of Arun and Suresh are 24 years and 36 years
respectively. What was the ratio between the ages of Suresh and Arun, 8
years ago?

a.4:7 b.6:5 c.7:4

d.3:2 e. Answer not known

Slment oBoId F6rad sBGUTMHW auLIGHIH6T (WeBGW 24 QUHLMISET LOBBID
36 UMBLMIFH6T eedlled 8 emi(hBEheHEG (P& &6Iad BmIdD  Oi(hHew
AWGHIH6MeT alSHD eleiteeuTd EHHH(HHEGLD?

a.4:7 b.6:5 c.7:4 d.3:2 e. alenL  Gxfuwalsvenev
(Source : RS Agarwal (Model I)

Solution

Suverh 1 Avun -
(36-3) - (au-9)
w g K

A and B together can do a piece of work in 16 days and A alone can do it
in 48 days. How long will B alone take to complete the work?

a. 18 days b. 24 days c. 28 days

d. 30 days e. Answer not known

A ppib B o @meumd Bevewthdl  @@h  Cauemevenul 16 BT Heriled
wiuT. A selBu 9bs Gamevenws 48 BT &efled (pQUUTT. eeied, B
S8 IbFHI Ceuemevenul 61&HemedT BT &H6M60 (LIQLILITT?

a. 18 pm et b. 24 B sei c. 28 mm el

d. 30 mrl e e. allenL  Gafuwielsvensy

(Source : 8th New Book Term 3 Example 2.7 Pg No: 42)
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Solution

QS
o (]

IS - SRUTRS &

RAYR = G = e
\b
D =
A

ﬁ\ D= 2\ Acufs\

210 men working 12 hours a day can finish a job in 18 days. How many
men are required to finish the job in 20 days working 14 hours a day?
a. 156 men b. 162 men c. 168 men

d. 172 men e. Answer not known

210 sopeise BHroemmeimibE 12 wenll CHID Gouemev OFUIFH 6 Geusmevenu
18 mrisefled @l 91685 Geoumevenwl HTOMTHIBISEG 14  wewl  GHILD
BGouemev OFUIFH 20 BT H6iled (PIYSHED 61HHMe HLeIH6T BHemeu?

a. 156 sy emiBasel b. 162 sy w6l c. 168 syemiBamei

d. 172 syemismei e. allewL Oz fuiailsdenev

(Source : 8th New Term 3 Ex 2.1 Pg No : 45 Sum No 2)
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APPEZ LD

Solution

E, XD Ky = €3 X DaxrHYL

” F)) - ///
3 ¥ 1B R 1L = Ko ’l}b/wx

i

Mlen 63 cEs

If 5 persons complete 5 projects in 5 days then 50 persons complete 50
projects in days.

a. 5 days b. 10 days c.50 days d. 55 days

e. Answer not known

5 puTseT 5 Geuemevenwl 5 BTL&G6M60 OFUIH (LPIQLILIT. elelled, 50 [HLITH6T 50
ERIRET NI BT Heill60 OFUIH (LPIQUILIT.

a.b5 [ ser b. 10 ®m el c. 50 mm sl

d. 55 ®m el e. el Oz fuiaiebenev

(Source : 8t New Term 3 Pg No 44 Ex. 2.1 Sum No 1 (ii))

Solution

B, %D » _ st % Ds
s okl il
LD w”

5% 8 - 5D
=
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APPEZ LD

171. A mason uses the expression 2x3 + 16 to represent the area of the
rectangular floor of a room. If the decides that the length of the room will
be represented by 2(x+2) then what will the width of the room be
represented in terms of x?
a.2(x-2) b. (x2 - 4) c. (x2-2x+4)

d. (x2+ 2x - 4) e. Answer not known

sl Beuemeowlmell @HaIT Siewpuie OFalals algal SHomyuiler LJLiLeTe] 2X3
+16 arens Fonalsais CHTERILIT. Diher Hend 2(x+2) eend GBleSILLLT60
SIHELDTEOIH X — &1 FTTUTS  LlediaumheusioummIeT 61g)7?

a.2(x-2) b. (x? - 4) C. (x2-2x + 4)

d. (x2 + 2x - 4) e. allenL  OFflwiaisoenso

(Source : Same Model) 8th New Pg No 96 : Term 1 (Sum No : 7)

Solution

Avea of the Rockara) @

o Q_QL?)-—\~\\0.

——

\xyex S

JloAw) = A & s

Qe carn LR
2

(cae’) = i (o *>
o LDL_\_,_) Q‘)L?_"\’ ‘—\‘”279

Coc)(ﬁ,§ (o —_axiruxd = (e¥2) x5

The volume of a solid hemisphere is 29106 cm3. Another hemisphere
whose volume is two-third of the above is carved out. Find the radius of
the new hemisphere.

a.21.5cm b.12 cm c.21 cm

d.23 cm e. Answer not known
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APPEZ LD

QM Hawio SmIsCaTendHlar Har e 29106 H.655 cpeipdled  Eyewi(h
UmIG Hel  SlenaleiTen BT SienyshBamend @FHeV(HbEH OBHIHSHLILIBGLOTEITEL
W DIemTCoTenSHSHleit SLILD 61601601 ?

a.21.5 Qs.6 b.12 Q@z.8 c.21 @58

d. 23 Q&.6 e. el GxMuwalesvenso

(Source : 10th New Example 7. 21 Pa No: 286)

Solution

Volurme cs:‘) So\ta n Q_qmbc‘w%

Hemmia \D\'\Q‘(’Q_

Now HQN\‘T&Y\WQW = 29iob "%

Fovmua =

x/;gx‘

’*

o
2
>

Pl o B e T

Y- -_:i‘\')_é\

\"(’ = D\

The difference between simple and compound interest on a certain sum of
money for 2 years at 2% per annum is #. Find the sum of money.

a.¥2,000 b.¥7,500 c. ¥10,000

d. 12,000 e. Answer not known

2% o aliguilsd 2 UMIBHGH T DFNHGHD HMLSH Gl (B QUL I9HEGHID
sl eIl 19b&ID Benl Cuiujeren albHuwngid B eeafled SUBISIET DIFeO 6leiTen?
a.¥2,000 b.¥7,500 ¢.¥10,000 d.¥12,000 e.alenL Opflwaisoenso
(Source : 8t New Book Page No: 26 Ex 1.3 question 20)
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APPEZ LD

Solution

Voluroe e} e { _ 5 qiobdee
HQW\?&\D\\Q\'Q

9 {

Neow qu‘\’g\)\ncm - 29iob¥x 2

Foyvmula =

i
2

= T P22 RN

Y' :50\9—6\

\Y = D\

174.  The difference between the compound interest and simple interest
accrued on an amount of 8,000 in two years is ¥405. Then the rate of
interest per annum is
a.12% b. 15% c.18% d. 10% e. Answer not known
Bm eaumLmsaied IAU8,000 Bsmer Gmi@B ealy, Sefaly SLEwieUBI6T
algHuwnaid #BO5 eefled aumLal’ly aisid
a. 12% b. 15% c. 18% d. 10% e. alewL Oz fuweaisoenev
(Source : R.S. Agarwal)
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Solution

it v (£

QT 5 G I N

o

. - *4a

X - PxZL xZ

\OO 0D

Find the rate of interest if the difference between C.I and S.I on ¥ 8,000
compounded annually for 2 years is ¥20.

a. 5% b. 10% c.15% d. 20% e. Answer not known
BO00 53 Orwid ANGIEHSFH DDLEGD Gl Bl 19dsGD, Hel
I &G AL Cu 2 eten albHumsd VO eefed au'ly aisd sres.

a. 5% b. 10% c.15% d.20% e. alewr Gz fNuwialedenso

(Source : 8th Old book Page No 120 Same Model Example 3.27
Solution

P = RN Qoo
N = 2vyveaYsy.

Ditleronee — R 2o

Stexence blw?Q - P (R>)

82X |e-x , e

S oo = Agoo ©_
oo x Yod

‘>
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Find the principal on amount ¥11,800 at 6% per annum for 3 years being
simple interest annually.

a.¥8,000 b. ¥9,000 c. ¥10,000

d. 9,500 e. Answer not known

pSIBTeiGHelled 6% salaly aisbd Owrss Cstms AU1,800 oelagd
SIFMEVE  HITCWI.

a. 8,000 b. 9,000 c.¥10,000

d. ¥9,500 e. el Oxfuwalsveneo

(Source : 7t Old Book Page No: 112 Ex 3.6 Sum No: 12 (model))
Solution

P = w3
& = N\, S0
™ = 2 yesaxy .

21 S
) YNy X+ -

oo

LoD

@7 o nW< -
veos - g (Tt;)

m_\joo&o - P [

The value of a machine depreciates at 10% per year. If the present value is
¥1,62,000. What is the worth of the machine after two years?

a.¥1,29,600 b. ¥1,30,600 c. ¥1,31,600

d.¥1,31,220 e. Answer not known

o Bupdrssel sBGurtensw Y I 1,62,000. @aICauTm DBIBHESID
BuibdrsHer wHy 10% Gopdpg. aaled, Qrail BB HHHSI
AeualwbHTHSH 6 S| 6T6iT6017

a.¥1,29,600 b. ¥1,30,600 c. ¥1,31,600
d.¥1,31,220 e. alenL  GaMuialevemsv

(Source : 7th New Book Term 3 Pg No : 45 Challenge Problem)
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Solution

Rate Depwciater= 1o/.

Preant value = L, b2 coo

= 'L 2,000 X Qe Qo
10D \ OO

B .9

A sum of ¥48,000 was lentout at simple interest and at the end of 2 years
and 3 months the total amount was ¥55,560. Find the rate of interest per
year.

a. 7% b. 8% c. 9% d. 10% e. Answer not known
BLMS QUPBISLILL L SFe0 48,000 &@& 2 WIBH6T 3 10THS HTLSHHBSLI
et seflaul’lp cpeold GQupLULL  Owrdhssd OFHTeansd I 55560 5 BHHHH
aalled aUlly SIHHMBDH HT6EWIH.

a.7% b. 8% c. 9% d. 10% e. alen GaMuialsdemsv
(Source : 7th New Term 3 Page No: 44 Ex: 2.4 Sum No : 7)

Solution

E.Pf YA 1LZWL, oo l

By = D Veaxs 3B rovonih

A = Y=, 5Lty

S't:ﬁ—‘—? l

Yax. sl

BN = R

Lo

- ssSuo — Lrooo

5y = L Do X 2@‘%:>>f

o>

i

) P T
I sLy = oo = X x» B

AR =2 =

JR :‘—}—/.1
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CHENNAI

Raghul wanted to find the height of a tree in his garden. He checked the
ratio of his height to his shadow length. It was 4 : 1. He then measured the
shadow of the tree. It was 15 feet. What was the height of the tree?

a. 15 feet b. 30 feet c. 60 feet

d. 75 feet e. Answer not known

Arr@ed  Haig  GCHTLHHL o 6ol @ WISIHET 2 wrHmsd opfiul
allpiemT. SIICUTH ST SHRH 2 UITSHMBSULD, HTSH HILOEVIT HeNSHemSHUILD
DM DG 4 : 1 6B alHHHHe0 2 6lanensd DBHSTT. L6 LoFsH e
H&HeVleT HemD 15 o9 6Tefled, LOFHH6 2 WD 6T6sT6017

a.15 o b.30 sng c. 60 o9

d.75 o9 e. alenL  Gafualsvemsv

(Source : (Same Model) 8t New Term 1 Page No: 106 Example : 4.10)
Solution

F:

T\"\\Q\’B\ = Pro 13‘Q"\_‘f

JO s
= \

A shop keeper marked the price of an article as 15% more on its cost price
and than offered 15% reduction for the article, then he got

a. Profit b. Loss c. Neither Profit nor Loss

d. Profit as well as Loss e. Answer not known

QM SOLESTT e Oummeiear SILHs alemeouled 15 FHAIGHD DIFHHLOTEHS)

D6 GBS alwed HUSSHBIT. SiFled 15 FHeipD  SeEbLy  SHh
alBuemet QFUISDIT 6leled HENLSHSTIT DIWLHHSHI.

a. 6LTLILD
b. mULID
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C. GUTLI(PLD B6eVem6V [BLL (PO E606m6V

d. eomuTHOID BHEBGWD BLLITHAD E[HHGWD

e. alowL  OFMwalsdensy

(Source : 8t New Book Term II Page No : 13 Think)

Solution

Yok C.-.= 1l
Marxked Brice Tnaraoued
By 1S o/ -

1P = loo + oo X 1S ‘
oo /|

Mp = Jc

Reducktton

=% Vi (usx,gg
E=l=

= WS — \ -0
L-P —=— ARSES

c.p > g

o s

A hemispherical tank of radius 1.75 m is full of water. It is connected with
a pipe which empties the tank at the rate of 7 liters per second. How much
time will it take to empty the tank completely?

a. 27 minutes b. 26 minutes c. 72 minutes

d. 62 minutes e. Answer not known

S 175 15 o eten T oewyGsmen  eaugeud QML 1pBYIeID  BITEL
Briudiul Getengl. @F  GTuler  cweold  alpmedH@E 7 ILLT el
OaT uiedmpbha BT CeueMGuBBLILIGLOTEITE, OFHTLIgenul elelalene] CBHysHae0
(WWRUGHIOTS &Ted GFUIweoTLD?

a. 27 mBiol_miselt b. 26 B Bibeit C. 72 Bl Biser

d. 62 pidlLmiseit e. allewL Oz fuialsdenev

(Source : 10th New Book Page No: 297 unit Exercise 7 Sum No : 2
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Solution

=2 w22 (135
> E ;
2

— (.00 % v
‘lm = lobob l\l‘T‘Q/\q

= 119295 |¢ tven

T The wokox fov one gecond

L22s - ALSG e
= |

Yooty 2oa 1 vl CﬁPpmb
6o |

Find the LCM of (x*-1), (x2-2x + 1)

a.(x2+1))x+1) b. (x+1) (x-1)
c.(x2+1) (x-1)2 d. (x2+1) (x +1) (x - 1)?
e. Answer not known

15.QUT.LD  SHT6WIH.

a.(x2+1))x+1) b.(x+1)(x-1) c. (x2+1)(x-1)2
d.(x2+1) (x+1) (x-1)2 e. alewL Oz fuweaisdensv
(Source : 10th New Page : No 97 Example 3.12 (iii))

Solution

L.CM
1), (x2-2x+1)
(><2)2 12), (x-1)?
2+ 1) (x-1) (x - 1)2
2+1) (x+1) (x-1) (x-1)2
x-1)2 (x +1) (x2 + 1)

X
X

(xt
(
(
(
(
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Find H.C.F. of (x?y + xy?), (x*> + xy)

a.xty b. xy c.x(x+y) d.x2+y? e. Answer not known
(x%y + xy?), (x2 + xy) spFweuBplen L5.0LT.60. SHTewIs.

a.x+y b. xy c.x(xty) d.x2+y?2 e sl Oxfwealsdeneo
(Source : 10t New Book Page No : 98 Example 3.3 Sum No 1 (iii)

Solution:
H.C.F. of (x?y + xy?), (x* + xy)

Xy (x +y), x (x+y)
H.C.F. = x(x+y)

) . 1 3 8
Simplify: 5=+= of =
PHLy 2 4 9
1 1 4
a. 6= b. 6= ) d. 6= e. Answer not known
4 6 9 8

F(H&HEGHH: 5%+% &0t

a. 6% b. 61 C. 6§ d. 6§e. alenL.  Gafuwalevenso

6 9
(Source : 8t Old book Page No: 16 Example 1.4)

Solution:

Simolif 3 5 30 12_-27
i ah 5 27312 9 16

43 33

. — C. —

12 12
5 30 12 =27
16

e. Answer not known

c. — 4B
12 12
(Source : 8t Old Book Page No: 20 Example : 1.18)

e. allewL  OFflwaledenso
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